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Merging PVDIS with HAPPEX DAQ

MOTIVATION

»>Allow PVDIS to include information from beam-line, such as BPMs,
BCMs, Lumis, etc

>Helicity will be delayed, read it in injector crate as during HAPPEX

>Can use parity analyzer which is an already well developed code.
PVDIS scalers, which count electrons, pions, will “look like” a detector
based on a scaler in PAN



Merging PVDIS with HAPPEX DAQ

R-Tree

s disrews

ﬁ disrewc3
ﬁ disrewcd
ﬁ disrrz=dS
ﬁ disrmzdec2
ﬁ disrmzdcy
3y disrpnd
s disrpnci
ﬁ dizrphce
ﬁ disrps3
ﬁ disrpsa
ﬁ disrpsch
ﬁ disrpw 2
s disrpw7
s disrpwrcd
s disrtal
s disrtos
ﬁ disrtocs
ﬁ disrtged
s disrtss
Ry disrtac2
s disrtac?

ﬁ oversanmpled
ﬁ rampcdelays

Ty disrewsr

ﬁ disrewc3r
ﬁ disrewcdr
ﬁ distmzdSr

ﬁ cisrrzdc2r
ﬁ disrmzdc?r

s dlisrpndr
s disrpncir
ﬁ dizrphcEr
ﬁ disrps3r
ﬁ disrpsar
ﬁ disrpschr
ﬁ disrpw 2y
s dlisrpw7r
s disrpwcdr
ﬁ disrtgir
ﬁ disrtgBr
ﬁ clisrtocar
ﬁ disrtgedr
ﬁ disrts5r
s dlisrtac2r
s disrtacTr

ﬁ pairsynch

ﬁ rayic

Ty disrew?

ﬁ disrewcd
ﬁ disrmxd1
ﬁ disrmz=d&
ﬁ disrmzde3
ﬁ disrmzdcd
s dlisrpns
s disrpnc2
ﬁ disrpnc?
ﬁ disrpsd
ﬁ disrpsc
ﬁ disrpsch
ﬁ disrpw 3
s isrpws
s disrpwcs
s disrta2
s disrta7?
ﬁ cisrtocd
s disrts1

s disrtst
s clisrtscs
s dlisrtacs
ﬁ pairsynch3

ﬁ Fayhcs

Ty disrew7r

ﬁ disrewcdr
ﬁ dizrmxdir
ﬁ distrzdsr

ﬁ clisrmzdc3r
ﬁ disrmzdcdr

s dlisrpnsr
s disrpnc2r
ﬁ disrpncir
ﬁ disrpsdr
ﬁ disrpsclr
ﬁ disrpscBr
ﬁ clisrpw 3r
s dlisrpwar
s disrpwcSr
ﬁ disrtg2r
ﬁ disrtg7r
ﬁ clisrtocdr
ﬁ disrts1r
ﬁ disrtsir

s dlisrtacar
s disrtacar

s ritaclar

ﬁ scaler0_0

s disrews

ﬁ dizrewch
ﬁ disrmxd2
ﬁ disrmz=d?
ﬁ disrmzded
ﬁ disrpnl
s clisrpni
s disrpnc3
ﬁ disrprcs
ﬁ disrpss
ﬁ disrpscs
ﬁ disrpsc?
ﬁ cisrpwd
s disrpwc
s disrpwck
s disrta3
s disrtod
ﬁ disrtocs

s disrts2

ﬁ scaler0_0_cal

s disrewsr
ﬁ disrewchr
ﬁ dizrmxd2r
ﬁ disrrz=dfr
ﬁ disrmzdcdr
ﬁ disrpnlr
s dlisrpnicr
s disrpnc3r
ﬁ disrprcr
ﬁ disrpssr
ﬁ disrpsc2r
ﬁ disrpscFr
ﬁ clisrpwdr
s disrpwcir
s disrpwcEr
ﬁ disrtgy3r
ﬁ disrtgSr
ﬁ disrtocsr
ﬁ disrts2r
ﬁ disrts7r
s dlisrtscdr
s helicity
ﬁ precdac

ﬁ scaler0_1



P-Tree

ﬁ asyrn_dlisrts4

ﬁ asym_disrtscd
ﬁ asym_n_klumid
ﬁ asyr_n_blumi_d2
.ﬁ asym_n_disrend
ﬁ asym_n_disrencd
8 ssym_n_dlisrewd
ﬁ asyrn_r_dlisrewcd
ﬁ asym_n_disrmzdd
.ﬁ asym_n_disrmzdcd
ﬁ asym_h_disrpng
ﬁ asym_n_disrpncd
ﬁ asym_n_disrpsd
& ssym_n_disrpacd
ﬁ asym_n_dlisrpwd
ﬁ asym_n_disrpacsd
.ﬁ asym_n_disrtgd
ﬁ asym_n_disrtged
ﬁ asym_n_disrtsd
ﬁ asyrmn_n_disrtscd
ﬁ avy_hemd

.ﬁ avy_homcayd

.ﬁ avyy_hlurnid

ﬁ asym_disttss

ﬁ asym_disrtsch
ﬁ askrm_h_klurniS
ﬁ asyrm_n_kblurmi_h
.ﬁ asym_n_disrens
ﬁ asym_n_disrench
B asym_n_clisrews
ﬁ asym_n_disrewch
ﬁ asym_n_disrmxdS
.ﬁ asyrm_h_disrmsces
ﬁ asym_n_disrpna
ﬁ asym_n_disrprcs
ﬁ asym_n_disrpss
& asym_n_dlisrpacs
ﬁ asyrm_n_disrpwS
ﬁ asym_h_disrpases
.ﬁ asyrm_n_disrtgs
ﬁ asym_n_disrtgeS
ﬁ asym_h_disrtss
ﬁ asym_n_disrtsch
ﬁ aviy_homS

.ﬁ aviy_hlumnii

ﬁ aviy_hlumi_c

ﬁ asyr_distish

ﬁ asym_disrtsch

ﬁ asym_r_klurnie
ﬁ asym_n_kblurmi_sum
.ﬁ asyrm_n_disreni
ﬁ asym_n_disrenck
b asym_n_clisrews
ﬁ asym_n_disrewch
ﬁ asym_n_disrmxds
.ﬁ asyrm_n_disrrisclcs
ﬁ asym_n_disrpng
ﬁ asym_n_disrprcs
ﬁ asym_n_disrpsk
& asym_n_clisrpach
ﬁ asyrm_n_disrpws
ﬁ asym_n_disrpuck
.ﬁ asyr_n_disrtgh
ﬁ asym_n_disrtges
ﬁ asyrm_n_disrtsi
ﬁ asym_n_disrtsch
ﬁ aviy_homi

.ﬁ avo_klumiz

ﬁ aviy_hlumi_d

Merging PVDIS with HAPPEX DAQ

ﬁ asym_distts?

ﬁ asym_disrtsc?
ﬁ asyr_n_hlurmi?
ﬁ asyrm_n_blurmi_v
ﬁ asym_n_disren?
ﬁ asym_n_disrenc?
5 asym_n_disrew?
ﬁ asyr_n_disrewe?
ﬁ asym_n_disrrisd?
ﬁ asyr_n_disrrzce?
ﬁ asym_n_disrpn?
ﬁ asyrm_n_disrpnc?
ﬁ asym_n_disrps?
& asym_n_disrpac?
ﬁ asyr_n_disrpw?
ﬁ asym_n_disrpwc?
ﬁ asym_n_disrtg?
ﬁ asym_n_disrtge’
ﬁ asyrm_n_disrts?
ﬁ asym_n_disrtsc?
ﬁ avy_bhem?

ﬁ avey_blumid
ﬁ avy_hlumi_d2

ﬁ asyr_disrtsd

ﬁ asym_disrtsca
ﬁ asym_n_hlumid
ﬁ asyrm_n_blumi_x
ﬁ asym_n_disrend
ﬁ asym_n_disrencs
b asym_n_disrews
ﬁ asyr_n_disrewcs
ﬁ asym_n_disrrisd3d
ﬁ asyrm_n_disrmzdcs
ﬁ asym_n_disrpng
ﬁ asyrm_n_disrprncs
ﬁ asym_n_disrpsd
b asym_n_disrpach
ﬁ asyrm_n_disrpwd
ﬁ asym_n_disrpued
ﬁ asyrm_n_disrtogd
ﬁ asym_n_disrtgeh
ﬁ asyrm_n_disrtsd
ﬁ asyr_n_disrtsca
ﬁ avy_bhems

ﬁ avey_blurmid

ﬁ avyy_klumi_h

ﬁ asyrm_disrtsc

ﬁ asym_n_kblurnil
ﬁ asym_n_hlumi_awve
ﬁ asym_n_disreni
ﬁ asym_n_disrenc
ﬁ asyrm_n_disrew]
B ssym_n_disrewe]
ﬁ asyrm_n_disrrzdl
ﬁ asym_n_disrmzde
ﬁ asym_n_disrpni
ﬁ asym_n_disrpnc
ﬁ asym_n_disrpsi
ﬁ asym_n_disrpscl
s asym_n_clisrpw 1
ﬁ asym_n_disrpwc
ﬁ asym_n_disrtgl
ﬁ asym_n_disrtgel
ﬁ asym_n_disrts
ﬁ asym_n_disrtsc
ﬁ avg_beml

ﬁ avy_hemd

ﬁ avey_klumis
ﬁ avyy_klumi_sum



Compare PVDIS and HAPPEX Scaler readings

Before integration, use a standalone code to read out PVDIS scalers and
compare with HAPPEX
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Compare PVDIS and HAPPEX Scaler readings

Now, use PAN to read out and compare scalers in both DAQs
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Compare PVDIS and HAPPEX Scaler readings

To try to repeat and solve the 3-same-reading problem, sent 100kHz pulser,

Ramping DAC 12 after v2f into scalers of both DAQs
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Compare PVDIS and HAPPEX Scaler readings

To try to repeat and solve the 3-same-reading problem, sent 100kHz pulser,
Ramping DAC 12 after v2f into scalers of both DAQs,
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Compare PVDIS and HAPPEX Scaler readings

To try to repeat and solve the 3-same-reading problem, sent 100kHz pulser,
Ramping DAC 12 after v2f into scalers of both DAQs, helicity after v2f for
synchronization check

#31185 ramping DAC 12 --->v2f chanl---= scalerd_ 1, scaler6 1, scaler7_1
helicity---= not OUT ---= wv2f chan2---> scalerd 2, scaler6 2, scaler7 2
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Plans during the incoming experiments

1, Continue helicity synchronization check

2, Repeat the above check for every channel of all the scalers

3, Prepare the parasitic test during Ay and 3He(e,e'd)
experiments



